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| Semester B.C.H.N./B.C.L.S./B.Com./B.C.T.T. Examination, December 2018
(CBCS Scheme)
LANGUAGE SANSKRIT -1
Yakshaprashna Sangraha, Grammar and Comprehension

Time : 3 Hours : Max. Marks : 70

Instructions : 1) Answer in Sanskrit/Kannada/English.
2) Answer Q. I, V & Q. VI in Sanskrit only.

|. gy 3 faa | (10x1=10)
pstelosdnin mgdsﬁs.g{ 302 LWB000.
Select the correct answer.

1) WA shid gerifor &f= ?

37) | " 3T) SiEw 3) ITerew 3) femfer:
2) ‘TaTIY: TR hieh gaifor gdd ?

37) 3rfegdfon 1) g 3) HUTge o] 3) TeRreqafu
3) e o9t A Ry ? _

31) gehlet: 1) G 3) HIAH; 3) el
4) Ffafsarey uv #gl *: wdifeaad ?

) TH: 3T) A 3) Im: 3) FET
5) o it wafq ?

) quE 3T) TR 3) g 3) g1
6) ’{ﬁﬂ'ﬁﬂ'{m? |

)y 1) T 3) fi 3) Wil

© 7) o: ufvea: 3 ? |
3) g 3T) ITEae: T) HYs: 3) fogm

P.T.O.




13105 2 R

8) 1 = g ufeEhifdar ?
) wEREd  31) wgdatoes 3) gufae 3) JreHTiETiar

9) Sahd: TEl F; 7
3) 93 ) gou: 3) 9t 3) ISH:

10) &Y 9rqy Frafest: = shfagesfa ? _
) wgeaq ) THe. 3) “fmm 3) I

I, BaE: JeEl: 3T fored | (2x10=20)
Bolote:® @%ﬁ@ﬁ YVBOR.
Answer any two questions.
1) HETHRAET ITHHTOT S0 |
BTLRTSD %oaaﬁoodaaigt RESERD.
Describe the greatness of Mahabharatha.

2) FETAHAT TRl forer |
0303, T TFHORT Ror o LBOWO.
Summerise the story of Yaksha prashna.

3) gergfeafedet: gy der foreq |
o8 Rod) CB0RHTS TBRIBER) Horjted IO

Write about the questions and answers ensured between Yaksha and
Yudhisthira.

I, S&TOTT YA, 3TFATE Feal fagopd | ' (3x4=12)
AT FREBNTR) BTIOR QTOR.
Translate and explain any three slokas.

1) @ '5(1|'-L‘H!(&1*Lc‘ll°1—>“lleﬂldd =T |

WW 1

2) A9 IETERIST Ug JRifed wefuq |
S GRHECR DR GDE R
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3) I dTd |Ted H1l: 7Y qeuig: |
ST | i a4 e s = )

4) SENfecagEf SareaETay=T: |
UHYETR Tl 9 9 9 hifrsehy ||

5) AT T o Ffie: garge: |
T 9 T e S g |

V. areRrga weef fagup | (2x4=8)
DTT THINTR) FOTF RS TR,
Explain with reference to context any two sentences.

1) =19 qea & v Y R s |
2) 3Tk Tgyl HH Fhsreamuufya: |
3) T 7 Y1 YqGwT qErS: |
4) s TS 3 o §fgaH | _
V. HEHRT 99 3K o | (5x1=5)
) w2 forw - fafarg —a=mfy forge |
1) %ea |
2) Tgan
3) Fl
4) 3T
5) S
6) wfd:
' 7) v
8) e
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) U AHR-TeY a1 fored | ~ (5x1=5)

VI. 30 afeae afdean gwmm e fomea | (5%2=10)

T YA UfasaaT e | o1 feurerng ywafd | 31d: uer ‘fuadl sfd iesn |
AR et 3T SHTOTe: ‘YaE) geaty AR, | | TS 9aT Sed $eAd: (el
gﬁrmmﬂwﬂwmzﬁmsﬁmmmm 379E | TEA=
TR S[CIRTA, TATeTalishy AT | e qesis: i se=ed |

BEE LN
1) RG] gfesayT 4d1 &1 ?

2) T HEHT ITAT 7
3) T Y YH HETAT 7
4) TETAT: 9 AT TR ?

5) TET R TEfaq 31T=sq ¢




